Multiplying at Sight
A. Multiply

Vi1 x+2)(x+4)
3.(y+2)y+3)

5 m+1)(n+7)
/7. (a+8)(a-2)

9. (x -3)(x-4)

1. (x + 2)(x + 3)

13. (a+ 6)(a+ 2)
\'/15. v-6)y-1)

17. (c-9)(c+ 6)
/19. (2y - 6)(4y + 1)
V21, (2a-b)(3a + 4b)

B. wmutiply

1. (x+4)(x + 3)

3. (x+ 6)(x + 2)

5 x-1)(x-2)

7. (x-4)(x-3)

9. (3x + 4)(3x - 4)

1. (n+2)(n- 1)

13. (y+6)(y-2)

15. (4% - 3y)(x- 5y)

17. (a + b)(a - b)

Exercise 5A - 8

2. (a+2)(a+5)

4 (x+4)(x+5)

6. (x+5)(x-2)

8 (c-6)(c+1)

10. (a-5)(a-9)

12. (y +5)(y +1)

14. (x-4)(x-3)

16. (x+3)(x-7)

18. (2x + 1)(x + 3)

20. (5x +2)(3x-1)

22. (7r —s)(r + 4s)

2. (x+3)(x+5)

4 (x+2)(x+1)

6. (x-6)(x-3)

8 (a-3)(a-5)

10. (a- 1)(a + 3)

12. (3x + 2y)(2x + 3y)

14. (a+5)(a-3)

16.(x + 2)(x - 2)

18. (3n + 2p)(7n - p)

1. 2.
3. 4.
5. 6.
7. 8.
9. 10.
11. 12.
13. 14.
15. 16.
17. 18.
19. 20.
21. 22.
1. 2.
3. 4.
5. 6.
7. 8.
9. 10.
11. 12.
13. 14.
15. 16.
17. 18.




Exercise 8B — 4

Determine the slope of the line that passes through each pair of points

1. (-2,2), (3,-3) 2. (-2,-8), (1, 4) 3. (3,4), (4, 6)

4. (-5,4),(-1,11) 5. (18, -4), (6,-10) 6. (-4,-6), (-4, -8)

Determine the value of r so the line that passes through each pair of points has the given slope.

7. (1,r),(1,-4),m=-5 & (-2,1),(r,4), m =§ Vo, (-1,3),(-3,1), m=-3

3. 4.
5. 6.
7. 8.
9. 10.

10.(3,1),(7,-2),m =3 11(r,-2),(-7,-1),m=-7 12 (:3,2),(7,1),m =2 - =
Write the point-slope form of an equation of the line that 13. 14.
passes through the give point and has the given slope.
15. 16.
13. (5, -2),m=3  V14.(5,4), m= -5 15. (-2,-4), m =2
2 : 17. 18.
16. (-3,1), m=0 17. (-1,0), m = = 18. (0,6), m =-2
Write the standard form of an equation of the line that passes 1s. 20.
through the given point and has the given slope.
2 21. 22.
19. (-6, -3), m=-= V20.(4,-3),m=2  21.(5,4),m=-3
4 23. 24.
22. (1, 3), m =undefined 23. (-2,6),m=0 24. (6,-2), m = 5
Find the x- and y- intercepts of the graph of each 25. X 26.
equation.
27. 28.
25.3x+2y=6 V26. 5x +y =10 27. 2x+ 5y =-11
29 30.
28. 3y =12 29.y-6x=5 30.x=-2
Write an equation in slope-intercept form of a line with the given slope 31. 32.
and y-intercept.
2 7 33. 34.
31.m=-§,b=2 32 m=5b=-15 33.m=-;,b=2
4 5 35. 36.
34.m=—§,b:§ 35.m= -6,b= 15 3. m =12,b=-24
37. m 38.
Find the slope and y intercept of the graph of each equation.
3 1 2 1 39. 40.
37.y-X=-3 38.y=3x-7 39.§x+-gy—2
41. 42.
vV 40.2x+3y=5 41. 3y =8x + 2 42. 5y =-8x-2
Write an equation in standard form for a line that passes through 43. 44.
each pair of points.
45. 46.
43. (-1, 7), (8,-2) Vaa. (6, 0), (0, 4) 4s5. (8, -1), (7,-1)
47. 48.
46. (1, 0), (0, 1) 47. (5,7), (-1, 6) 48. (-3,-5), (3,-15)
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A. Find the perimeter

Exercise 5B - 7

1.

2x+1

4.

X X
|2a
2a

10a.
3x
2x
1la.
5x
3x
12a.
L,
3x 2x
4y
13. a
1%
b a
16. 9y
Yy
Y
Y |Y

xX+2

x+1

10b.
3x
b.4 2x
X
11b.
5x
X 3x
2x
2x 2x
12a.
4y
2y
X 3x
14. V'
2X
3y
17. 6b
b
d =
b |b

6.

3x

2h
x

:

h

h

B. Find the area of the shaded figure. Give your answer in terms of the variable

2h
x
x
X
4x

h

10c.
3x
2x
x
1lc.
5x
3x
2x
12a.
__EI_L_
3% 2x
a4y
15. X
Z
w y
18.
1
1 2x
1
1
ax

10a.

10b.

10c.

11la.

11b.

11c.

12a.

12b.

12c.

13.

14.

15.

16.

17.

18.




Exercise 4D - 1

Problem Solving (Show Equation)

1.

Vs,

Vv 7.

10.

11.

12,

Irene bought some pencils at 10¢ each. She kept 2 of them and sold the
rest at 15¢ each. Her profit was $1.50. How many pencils did she buy?

Arnie bought some bagels at 20¢ each. He ate 4, and sold the rest at
30¢ each. His profit was $2.40. How many bagels did he buy?

Ramona bought some pears at 40¢ each. She sold all but 4 of them at
50¢ each. Her profit was $2.00. How many pears did she buy?

I bought several notebooks at $.80 each. I kept 2 and sold the rest at
$1.00 each. I didn't make any money, but I didn't lose any either; How
many notebooks did I buy?

A cycle shop bought 16 helmets at $30 each. They sold some of them
at $60 each. They sold the rest at a sale price of $45 each. Their profit
was $375. How many helmets were sold at the sale price?

Admission to the fair was $1 for students and $2 for adults. There were
80 more student tickets sold than adult tickets. The ticket sales totaled
$980. How many student tickets were sold?

The Video Center bought several video recorders. Each recorder cost
them $220, They gave away one recorder, and sold the others for $290
each. Their profit was $1250. How many recorders did they sell?

Hank bought several ball-point pens at 40¢ each. He kept 2 and sold
the rest at 60¢ each. He neither gained nor lost any money. How many
pens did he buy?

Mr. and Mrs. Wolfe both make $12 an hour at work. One week, Mr.
Wolfe worked 4 hours more than Mrs. Wolfe. Their combined pay for
the week came to $912. How many hours did each work?

Maureen earns $1 more per hour than her husband Karl. After working
a 40-hour work week, their combined pay totaled $840. How much did
each earn per hour?

Ticket sales for the Spring Fling totaled $1540. Advance tickets were
$3 each. At the door, tickets were $4 each. There were twice as many
advance tickets sold as were sold at the door. How many of each kind
of ticket were sold?

During the telethon, people pledged $25 or $40 donations. Twice as
many people pledged $25 as those who pledged $40. Altogether,
$15.300 was pledged. How many people pledged $25?

Equation

Answer




